1/odo/dp_ [GeV]]

Ratio to ATLAS

T

7000 GeV pp Z (Drell-Yan)
I | I I I T T 11 | I I I T T 11 I I 4(2
B 1<
(]
1= pT(Z) (electron channel, bare) =3
— 4=
- _|©
| o
N
10 & —=c
— —
- g
B @
=
1072 - —=*
3 _
107 & =<
— m
— <
- — ™M
| -
o
107 = =4
— : .=
~ m  ATLAS - >§
— --f3-- Herwig 7.2.0 default o =
107 =— —o— MadGraph5 2.7.2.atlas3 lo = c
= ¢ Sherpa 1.2.2p default =i
] gk
10° £ =g
o H - H] ———+H —4°F
2 & -2
1 1
0.5 —0.5
1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1

"D (ee) [GeV)



	Contents
	Page 1


